MATH REVIEW – TEST # 3

Revised 2/17
1. A tenant’s lease calls for a minimum base rent of $3,500 per month plus additional rent of  5% of gross sales in excess of the base rent. If total sales were $640,000, what was the tenant’s total rent for the year?
2. The Sellers have paid $750 for the Homeowners Association Dues for the current year.  The house sold and the closing is held on June 15th that year.  (Reminder:  for test purposes use a 360 day year and 30 day month for all pro-rations).  On the day of closing, what pro-rations should be made?
3. A property manager’s compensation plan includes a base compensation of $1,000 per month plus 5% of the collected rent. The complex has 10 units that rent for $1,200 per month. 6 of the units were leased for the entire year and the rest of the units for half the year. 90% of the contracted rent was collected. What was the property manager’s total compensation?
4. A buyer is purchasing a home for $95,000 with an 80% LTV 1st mortgage loan.  It will have a loan origination fee of 1 point and 3 discount points.  The buyer’s closing costs are as follows: closing fee of $235, recording fees of $55 and lenders title insurance policy of $140.  The buyers have deposited $2,000 in earnest money with the listing firm.  How much money will the buyer need to bring to the closing?
5. A property that was listed for $550,000 at 5% with ABC Realty sold for $500,000, and the buyers placed a $5,000 earnest money deposit. The seller had a $175,000 mortgage balance and the other closing costs were: closing fee $250, title insurance $750, recording fees $150, these other closing costs were split equally between buyer and seller. What did the seller receive as their net proceeds at closing?

6. Which of the following would leave the seller with the most money?

a. Sales price $250,000 commission rate 7% closing costs $2,200

b. Sales price $230,000 commission rate 6.5% closing costs $2,000
c. Sales price $220,000 commission rate 6% closing costs $1,800

d. Sales price $215,000 commission rate 5.5% closing costs $1,500
Answer Question #1:

 Base Rent



   Percentage Rent
$3,500 X 12 = $42,000     $640,000

$598,000

Base Rent    $42,000
                   -$42,000

      X .05
  Percentage Rent  +$29,900



   = $598,000
           = $29,900
          Total Rent  = $71,900
ANSWER QUESTION   #2:    This is a pre-paid pro-ration problem
Step 1:  Determine the monthly and daily figures.

$750 ÷ 12 = $62.50/ month          $750 ÷ 360 = $2.083/ day

Step 2:  Determine how much time is left in the year.


[image: image1]
Debit buyer $406.25, and Credit seller $406.25   

(Remember; the $406.25 taken from buyer (debit) is the same $406.25 given to seller (credit)
Step 3:      6 X $62.50  =   $375.00

                15 X $2.083 =     $31.25




      $406.25 
Answer Question #3                    
$ 1,200 X 6 units = $7,200 X 12 months = $86,400
          
 $ 1,200 X 4 units = $4,800 X 6 months  =  $28,800



         


     = $115,200 X 90% = $103,680 X 5% = $5,184
 Base compensation   $1,000 X12 = $12,000

                   Commissions on collected rent  $5,184
 





                    Total compensation =  $17,184
Answer Question #4:

 $95,000

  X   .20

 $19,000 down payment

 $95,000 Sales Price

     $19,000  down payment

      x.80  LTV_

      $ 3,040  points

 76,000 Loan Amt.      
          $430 closing costs
     x.04 points


     $22,470  sub total

  $3,040

 
    -  $2,000 earnest money





  = $20,470 cash to close

Answer Question #5  (Note: the buyer’s earnest money deposit of $5,000 is a credit to buyer)




Sales Price
       $500,000
·    Brokerage fee of 5%  - $25,000

·  Mortgage loan payoff - $175,000

· Seller’s ½ of closing costs  - $575
     Seller’s net proceeds      $299,425
Answer Question #6
              Sales price – (R.E Fee) – (Closing costs) = Seller’s Net
a.   $250,000  - $17,500   – $2,200    =      $230,300  (largest net proceeds to seller)
b.   $230,000  - $14,950   -  $2000    =       $213,050

c.   $220,000  - $13,200   - $1,800    =       $205,000
d.   $215,000  - $11,825   - $1,500    =       $201,675
  1/1                                                   6/15   This is the period of time we are        12/30


                                                                                     concerned with                                                                    


  End date	               12  30


- closing date               -    6  15


= time left                      = 6   15  (6 months and 15 days left in the year)
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